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×®Ö¬ÖÖÔ×¸üŸÖ ÃÖ´ÖµÖ  : 3 ‘ÖÞ™êü ] [ †×¬ÖÛúŸÖ´Ö †ÓÛú    : 70 

Time allowed : 3 hours ] [ Maximum Marks : 70 
 

ÃÖÖ´ÖÖ®µÖ ×®Ö¤ìü¿Ö ::::    

 (i) ¯ÖÏ¿®ÖÖë Ûúß Ûãú»Ö ÃÖÓÜµÖÖ 22 Æîü …  

 (ii) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 1 – 7 ŸÖÛú †×ŸÖ »Ö‘Öã-ˆ¢Ö¸üßµÖ ¯ÖÏ¿®Ö Æïü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ÛúÖ  1 †ÓÛú Æîü … ‡®Ö´Öë ÃÖê ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ÛúÖ 

ˆ¢Ö¸ü 40 ¿Ö²¤üÖë ÃÖê †×¬ÖÛú ÛúÖ ®ÖÆüà ÆüÖê®ÖÖ “ÖÖ×Æü‹ … 

 (iii)  ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 8 – 13 ŸÖÛú »Ö‘Öã-ˆ¢Ö¸üßµÖ ¯ÖÏ¿®Ö Æïü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú 3 †ÓÛú Æïü … ‡®Ö´Öë ÃÖê ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ÛúÖ ˆ¢Ö¸ü 

80 – 100 ¿Ö²¤üÖë ÃÖê †×¬ÖÛú ÛúÖ ®ÖÆüà ÆüÖê®ÖÖ “ÖÖ×Æü‹ …  

 Series : SSO/1/C ����úÖê›ü −ÖÓ.úÖê›ü −ÖÓ.úÖê›ü −ÖÓ.úÖê›ü −ÖÓ.   
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• Û éú¯ Ö µÖ Ö •Ö ÖÑ“Ö Û ú¸ü »Ö ë ×Û ú ‡ÃÖ ¯ ÖÏ¿ ®Ö-¯ Ö ¡ Ö ´Öë ´Öã× ¦üŸÖ ¯ ÖéÂ šü 8 Æ ïü ŸÖ£Ö Ö 2 ¯Ö éÂ šü ´Ö Ö ®Ö × “Ö¡ Ö Öë Ûêú Æ ïü … 

• ¯ Ö Ï¿ ®Ö-¯Ö ¡ Ö ´Ö ë ¤üÖ ×Æ ü®Öê Æ üÖ£Ö Û úß †Öȩ̂ ü × ¤ü‹  ÝÖ‹  Û úÖê›ü ®Ö ´²Ö ¸ü Û úÖê ”ûÖ ¡ Ö ˆ ¢Ö ¸ü-¯ Öã× ÃŸÖ Û úÖ Û êú ´Ö ãÜÖ-¯ ÖéÂ šü ¯ Ö¸ü × »ÖÜÖë …  

• Û éú¯ Ö µÖ Ö •Ö ÖÑ“Ö Û ú¸ü »Ö ë ×Û ú ‡ÃÖ ¯ ÖÏ¿ ®Ö-¯ Ö ¡ Ö ´Öë 22 ¯ ÖÏ¿ ®Ö Æïü …  

• Ûéú¯ÖµÖÖ ¯ÖÏ¿®Ö ÛúÖ ˆ¢Ö¸ü ×»ÖÜÖ®ÖÖ ¿Öãºþ Ûú¸ü®Öê ÃÖê ¯ÖÆü»Öê, ¯ÖÏ¿®Ö ÛúÖ ÛÎú´ÖÖÓÛú †¾Ö¿µÖ ×»ÖÜÖë …  

• ‡ÃÖ ¯Ö Ï¿ ®Ö-¯ Ö¡ Ö Û úÖ ê ¯ Ö œÌü®Ö ê Û êú ×»Ö ‹ 15 × ´Ö ®Ö™ü Û úÖ ÃÖ ´Ö µÖ × ¤üµÖ Ö ÝÖ µÖ Ö Æ îü … ¯ ÖÏ¿ ®Ö-¯ Ö¡ Ö Û úÖ ×¾Ö ŸÖ ¸üÞ Ö ¯Ö æ¾Ö ÖÔÆ Ëü®Ö ´Öë 10.15 ²Ö •Ö ê 
× Û úµÖ Ö •Ö Ö µÖ êÝÖ Ö … 10.15 ²Ö •Öê ÃÖê 10.30 ²Ö •Öê ŸÖÛ ú ”ûÖ ¡ Ö Ûêú¾Ö »Ö ¯ Ö Ï¿ ®Ö-¯Ö ¡ Ö Û úÖ ê ¯ Ö œÌëüÝÖ ê †Ö î̧ ü ‡ÃÖ †¾Ö ×¬Ö Ûêú ¤üÖ î̧ üÖ ®Ö ¾Ö ê                
ˆ ¢Ö ¸ü-¯ Öã× ÃŸÖ Û úÖ ¯ Ö ¸ü Û úÖê‡Ô ˆ ¢Ö ¸ü ®Ö Æ üà × »Ö ÜÖ ëÝÖ ê …  

• Please check that this question paper contains 8 printed pages and 2 pages of maps. 

• Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

• Please check that this question paper contains 22 questions. 

• Please write down the Serial Number of the question before attempting it. 

• 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 

question paper only and will not write any answer on the answer-book during this period. 

¯Ö¸üß�ÖÖ£Öá �úÖê›ü �úÖê ˆ¢Ö¸ü-¯ÖãÛÃŸÖ�úÖ �êú ´Öã Ö-¯ÖéÂšü 
¯Ö¸ü †¾Ö¿µÖ ×»Ö Öë … 
Candidates must write the Code on 

the title page of the answer-book. 

 

SET – 1 
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 (iv) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 14 – 20 ŸÖÛú ¤üß‘ÖÔ-ˆ¢Ö¸üßµÖ ¯ÖÏ¿®Ö Æïü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú 5 †ÓÛú Æïü … ‡®Ö´Öë ÃÖê ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö ÛúÖ ˆ¢Ö¸ü 

150 ¿Ö²¤üÖë ÃÖê †×¬ÖÛú ÛúÖ ®ÖÆüà ÆüÖê®ÖÖ “ÖÖ×Æü‹ …  

 (v) ¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 21 – 22 ´ÖÖ®Ö×“Ö¡ÖÖë ¯Ö¸ü ×¤ü‹ ÝÖ‹ ³ÖÖîÝÖÖê×»ÖÛú »ÖõÖÞÖÖë ÛúÖê ¯ÖÆü“ÖÖ®Ö®Öê µÖÖ ×Ã£Ö×ŸÖ ×¤üÜÖÖ®Öê ‹¾ÖÓ ®ÖÖ´ÖÖÓÛú®Ö 

Ûú¸ü®Öê ÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ Æïü… ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú 5 †ÓÛú Æïü … 

 (vi) ÃÖÓÃÖÖ¸ü †Öî̧ ü ³ÖÖ¸üŸÖ Ûêú ×¤ü‹ ÝÖ‹ ȩ̂üÜÖÖ-´ÖÖ®Ö×“Ö¡ÖÖë ÛúÖê †¯Ö®Öß ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ Ûêú ²Öß“Ö ´Öë †¾Ö¿µÖ ÃÖÓ»ÖÝ®Ö Ûúß×•Ö‹ … 

 (vii) ¸êüÜÖÖ-´ÖÖ®Ö×“Ö¡Ö ²Ö®ÖÖ®Öê Ûêú ×»Ö‹ ÃÖÖÑ“ÖÖë †£Ö¾ÖÖ Ã™ëü×ÃÖ»ÖÖë Ûêú ¯ÖÏµÖÖêÝÖ Ûúß †®Öã́ Ö×ŸÖ ¤üß •ÖÖŸÖß Æîü … 

 (viii) ÃÖ³Öß ¯ÖÏ¿®Ö †×®Ö¾ÖÖµÖÔ Æïü …  

 

General Instructions :   

 (i) There are 22 general questions. 

 (ii) Question No. 1 – 7 are very short-answer questions carrying 1 mark each. Answer to 

each of these questions should not exceed 40 words. 

 (iii) Question No. 8 – 13 are short-answer questions carrying 3 marks each. Answer to 

each of these questions should not exceed 80-100 words. 

 (iv) Question No. 14 – 20 are long-answer questions carrying 5 marks each. Answer to 

each of these questions should not exceed 150 words. 

 (v) Question No. 21 – 22 are related to identification or locating and labelling of 

geographical features on given maps, carrying 5 marks each. 

 (vi) Outline maps of the World and India provided to you must be attached within your 

answer-book. 

 (vii) Use of templates or stencils for drawing outline maps is allowed. 

 (viii) All questions are compulsory. 

 

1. Ã£Ö »Ö ¯ Ö ×¸ü¾Ö Æ ü®Ö Û úß ¤üÖê ¯ ÖḮ Ö ãÜÖ × ¾Ö¬Ö Ö†Öë Û úÖ ˆ »»ÖêÜÖ Û úß× •Ö ‹ …  ½ + ½ = 1 

 Mention the two principal modes of land transportation. 

 

2. ‘´Ö Æ üÖ ®Ö ÝÖ ¸ü’ ¿ Ö ²¤ü Û úÖ ê ¯Ö × ¸ü³Ö Ö× Â Ö ŸÖ Û úß× •Ö ‹ …  1  

 Define the term ‘Metropolitan City’. 
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3. ³Ö Ö ¸üŸÖ Ûêú ˆ ¢Ö ¸ü-¤ü×õÖ Þ Ö ÝÖ × »Ö µÖ Ö ȩ̂ü Û êú × ÃÖ ¸üÖë Ûêú Ã™êü¿ Ö ®Ö Ö ë Ûêú ®Ö Ö ´Ö × »Ö × ÜÖ‹  …  ½ + ½ = 1  

 Name the terminal stations of ‘North-South Corridor’ of India. 

 

4. ³Ö Ö ¸üŸÖ ´Öë ÝÖ î̧ ü-Û éú× Â Ö Û úÖ µÖÖ í ´Ö ë ¯ ÖÏµÖ ãŒŸÖ õÖê¡ Ö ´Öë ¾Ö é× ¨ü ¤ü¸ü †×¬ÖÛ úŸÖ ´Ö ŒµÖÖ ë Æîü ? 1  

 Why is the increase rate highest in area under non-agricultural uses in India ? 

 

5. ³Ö Ö ¸üŸÖ ´Öë ¯ ÖÏÖ ¯ ŸÖ ¬Ö¸üÖ ŸÖ »Öß µÖ •Ö»Ö Û úÖ »Ö ÝÖ³Ö ÝÖ 32 ¯Ö Ï× ŸÖ ¿Ö ŸÖ •Ö »Ö Û úÖ Æ üß ˆ ¯Ö µÖ ÖêÝÖ ŒµÖ Ö ë ×Û úµÖ Ö •Ö Ö ÃÖÛ úŸÖ Ö Æîü ? 1  

 Why is about 32 per cent of the available surface water can be utilized in India ? 

 

6. ³Ö Ö ¸üŸÖ ´Öë ÝÖ ÏÖ ´Ö ß Þ Ö ÃÖ ›ÌüÛ úÖ ë Ûêú ‘ Ö ®Ö Ÿ¾Ö ´Öë ¯ Ö ÏÖ ¤êü× ¿ Ö Û ú ×¾Ö Â Ö ´ÖŸÖ Ö ŒµÖ Öë Æ îü ? 1  

 Why is there a regional variation in the density of rural roads in India ? 

 

7. ³Ö Ö ¸üŸÖ ´Öë •Ö »Ö Û úß ÝÖãÞ Ö ¾Ö ¢ÖÖ Û úÖ × ®Ö ´®Öß Û ú¸üÞ Ö †×¬ÖÛ ú ŒµÖ Öë Æ ãü†Ö Æîü ? ‹ Û ú Û úÖ ¸üÞ Ö ¤üß × •Ö‹  …  1  

 Why has the quality of water decreased considerably in India ? Give one reason. 

 

8. ´Ö Ö ®Ö ¾Ö ²Ö× ÃŸÖ µÖ Öë Ûêú ¤üÖ ê ¯ ÖÏÛ úÖ ¸ü Û úÖî®Ö ÃÖ ê Æ ïü ? ¯Ö ÏŸµÖêÛ ú ¯ ÖÏÛ úÖ ¸ü Û úß ²Ö ÃŸÖß Û úß ¤üÖê-¤üÖ ê × ¾Ö¿ ÖêÂ Ö ŸÖ Ö ‹Ñ × »Ö × ÜÖ ‹ …  1 + 2 = 3  

 What are the two types of human settlements ? Write any two features of each. 

 

9. †®ŸÖ ¸üÖ ÔÂ ™Òüß µÖ ¾µÖ Ö ¯Ö Ö ¸ü Ûêú ŸÖ ß ®Ö Öë ²Ö Æ ãüŸÖ ´ÖÆ ü¢¾Ö ¯ ÖæÞ ÖÔ ¯ ÖõÖ Öë Û úß ¾µÖ Ö ÜµÖÖ Û úß× •Ö ‹  …  3 ×××× 1 = 3  

 Explain the three very important aspects of international trade. 

 

10. ³Ö Ö ¸üŸÖ ´Öë ³Ö æ-× ®Ö ´®Ö ß Û ú¸üÞ Ö Û úÖê Û ú´Ö Û ú¸ü®Öê Û êú Û úÖê‡Ô ŸÖ ß ®Ö ˆ¯ Ö Ö µÖ ÃÖã—Ö Ö ‡‹ …   3 ×××× 1 = 3  

 Suggest any three measures for reduction of land degradation in India. 
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11. “¯ Ö ÏÛ éú× ŸÖ †¾Ö ÃÖ ¸ü ¯ ÖÏ¤üÖ ®Ö Û ú¸üŸÖ ß Æîü †Öî̧ ü ´Ö Ö ®Ö ¾Ö ˆ ®ÖÛ úÖ ˆ ¯ Ö µÖ ÖêÝÖ Û ú¸üŸÖ Ö Æîü ŸÖ£Ö Ö ¬Ö ß ȩ̂ü-¬Ö ß ¸êü ¯ ÖÏÛ éú× ŸÖ Û úÖ ´ÖÖ ®Ö ¾Öß Û ú¸üÞ Ö Æ üÖê 

•Ö Ö ŸÖ Ö Æîü ŸÖ£Ö Ö ¯ ÖÏÛ éú× ŸÖ ¯ Ö ¸ü ´Ö Ö ®Ö ¾Ö ¯Ö ÏµÖ Ö ÃÖ Öë Û úß ”ûÖ¯ Ö ¯ Ö ›Ìü®Ö ê »Ö ÝÖ ŸÖ ß Æ îü …” ‡ÃÖ Û ú£Ö ®Ö Û úÖ ˆ ¤üÖ Æ ü¸üÞ Ö ÃÖ× Æ üŸÖ × ¾Ö¿ »ÖêÂ Ö ÞÖ 

Û úß × •Ö‹  …    3 ×××× 1 = 3  

 “Nature provides opportunities and humans make use of these and slowly nature gets 

humanized and starts bearing imprints of human endeavour”. Analyse the statement 

with examples. 

 

12. Ã¾Ö ê•Ö Ì ®Ö Æ ü¸ü × Û úÃÖ ¯ ÖÏÛ úÖ ¸ü ¯ Öæ¾Ö á †Ö î̧ ü ¯ Ö ×¿ “Ö ´Öß ¤üÖê®Ö Ö ë ¤ãü× ®Ö µÖ Ö†Öë Û êú × »Ö‹  ¾Ö Ö ×Þ Ö •µÖ Ûêú ¯ Ö Ï¾ Ö ê¿ Ö «üÖ ¸ü Ûêú ºþ¯ Ö ´Öë Û úÖ ´Ö Û ú¸üŸÖ ß 

Æ îü ? ˆ ¯Ö µÖãŒŸÖ ˆ ¤üÖÆ ü¸üÞÖ Ö ë ÃÖ ×Æ üŸÖ Ã¯ Ö Â ™ü Û úß × •Ö ‹  …  3 ×××× 1 = 3  

 How does the ‘Suez Canal’ serve as a gateway of commerce for both the eastern and 

western worlds ? Explain with suitable examples. 

 

13.  “Æ ü´Ö ë †¯ Ö ®Ö ê ÜÖ × ®Ö •Ö ÃÖ ÓÃÖ Ö¬Ö ®Ö Ö ë Û êú ÃÖ Ó̧ üõÖ Þ Ö Û ú¸ü®Ö ê Û úß †× ŸÖ †Ö ¾Ö ¿ µÖ Û úŸÖ Ö Æîü …” ‡ÃÖ »ÖõµÖ Û úÖ ê ¯ Ö Ö ®Öê Û êú × »Ö ‹ 

†Ö ¾Ö ¿ µÖÛ ú ´Öæ»µÖ Ö ë Û úß ¾µÖ Ö ÜµÖ Ö Û úß × •Ö‹  …  3 ×××× 1 = 3 

 “There is an urgent need to conserve our mineral resources.” Explain the values 

needed to achieve this goal. 

 

14. •Ö ®Ö ÃÖ ÓÜµÖ Ö Ûêú ‘ Ö ®Ö Ÿ¾Ö Û úÖ †£Ö Ô ŒµÖ Ö Æ îü ? × ¾Ö ¿¾Ö ´Öë •Ö ®Ö ÃÖ ÓÜµÖ Ö Ûêú × ¾Ö ŸÖ ¸üÞÖ Û úÖê ¯ ÖÏ³Ö Ö × ¾Ö ŸÖ Û ú¸ü®Öê ¾Ö Ö »Öê “Ö Ö ¸üÖ ë ³Ö ÖîÝÖ Ö ê× »Ö Û ú 

Û úÖ ¸üÛ úÖë Û úÖ ¾ÖÞ ÖÔ®Ö Û úß × •Ö‹  …  1 + 4 = 5  

 What is the meaning of density of population ? Describe the four geographical factors 

that influence the distribution of population in the world.  
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15. × ¾Ö Û úÖ ÃÖ¿ Ö ß »Ö ¤êü¿ Ö Öë ´Ö ë ÝÖÏÖ ´Ö ß Þ Ö ²Ö × ÃŸÖ µÖ ÖÑ × ¾Ö × ³Ö ®®Ö ¯ ÖÏÛ úÖ ¸ü Û úß ÃÖ ´Ö ÃµÖÖ†Ö ë Û úÖ ÃÖ Ö ´Ö ®ÖÖ ×Û úÃÖ ¯ ÖÏÛ úÖ ¸ü Û ú¸ü ¸üÆ üß Æïü ? ×Û ú®Æ üà 

¯ Ö ÖÑ“Ö ¯ ÖḮ Ö ãÜÖ ÃÖ ´Ö ÃµÖ Ö†Ö ë Û úß ¾µÖÖ ÜµÖ Ö Û úß × •Ö ‹  … 5 ×××× 1 = 5  

 How are rural settlements facing different types of problems in the developing 

countries ? Explain any five major problems. 

 

16. ³Ö Ö ¸üŸÖ ´Öë ¯ ÖÏ¾Ö Ö ÃÖ Ûêú × Û ú®Æ üà ¯ Ö ÖÑ“Ö †Ö Ù£Ö Û ú †Ö î̧ ü ÃÖ Ö ´Ö Ö× •Ö Û ú ¯ Ö ×¸üÞ ÖÖ ´Ö Öë Û úß ¾µÖ Ö ÜµÖ Ö Û úß× •Ö ‹ …  5 ×××× 1 = 5  

 Explain any five economic and social consequences of migration in India. 

 

17. ¯ Ö × ¸ü¾ÖÆ ü®Ö ÃÖ ê ŒµÖÖ †×³Ö ¯ ÖÏÖ µÖ Æîü ? ´Ö ÖÑÝÖ †Ö î̧ ü ´Ö Ö ÝÖÔ Ûêú Û úÖ ¸üÛ ú ×¾Ö ¿ ¾Ö ³Ö ¸ü ´Öë ¯ Ö × ¸ü¾Ö Æ ü®Ö ÃÖê¾Ö Ö†Ö ë Û úÖ ê ×Û úÃÖ ¯ ÖÏÛ úÖ ¸ü ¯ ÖÏ³Ö Ö × ¾Ö ŸÖ 

Û ú¸üŸÖê Æ ïü ? ˆ ¤üÖÆ ü¸üÞÖ Öë ÃÖ × Æ üŸÖ Ã¯ Ö Â ™ü Û úß× •Ö ‹ …   1 + 4 = 5 

 What is transport ? How do the factors of demand and routes affect the transport services 

throughout the world ? Explain with examples. 

 

18. ®Ö ‡Ô †Ö îªÖ ê× ÝÖ Û ú ®Ö ß × ŸÖ × Û úÃÖ ¯ ÖÏÛ úÖ ¸ü ˆ Ÿ¯Ö Ö ¤üÛ úŸÖ Ö  ŸÖ£ÖÖ »Ö Ö³ÖÛ úÖ ¸üß ¸üÖ ê•Ö ÌÝÖ Ö ¸ü ´Ö ë ¯ Ö ÖêÂ Ö Þ Ö ß µÖ ¾Öé× ¨ü Û úÖ ê ²Ö ®Ö Ö ‹  ¸üÜÖ ®Öê ´Ö ë ÃÖ ´Ö£Ö Ô 

¸üÆ üß Æîü ? Ã¯ Ö Â™ü Û úß × •Ö‹  …  5  

 How has the ‘New Industrial Policy’ been able to maintain a sustainable growth in 

productivity and gainful employment ? Explain. 

 

19. × ®Ö ´Ö Ö ÔÞ Ö × ÛÎúµÖ Ö†Ö ë ´Öë ˆ ““Ö ¯ ÖÏÖ îªÖ ê× ÝÖ Û úß × Û úÃÖ ¯ ÖÏÛ úÖ ¸ü ®Ö ¾Ö ß ®Ö ŸÖ ´Ö ¯ Ö ß œÌüß Æ îü ? ˆ ¤üÖÆ ü¸üÞÖ Ö ë ÃÖ ×Æ üŸÖ Ã¯ Ö Â ™ü Û úß × •Ö ‹  …  5 × 1 = 5 

 How is the high technology industry latest generation in manufacturing activities ? Explain 

with examples. 
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20. “¯ Ö × ¸ü¾Ö Æ ü®Ö ³Ö Ö ¸üŸÖ Ûêú × ¾Ö ×³Ö ®®Ö ³ÖÖ ÝÖ Öë Û úÖ ê •Ö Ö ê›Ìü®Ö ê ŸÖ£Ö Ö × ¾Ö × ¾Ö¬Ö ŸÖ Ö ´Ö ë ‹ Û úŸÖÖ »Ö Ö ®Öê ´Ö ë ²Ö Æ ãüŸÖ Æ üß ´ÖÆ ü¢¾Ö ¯Ö æÞ ÖÔ ³Ö æ× ´Ö Û úÖ 

× ®Ö³Ö Ö ŸÖ Ö Æîü …” ˆ ¤üÖÆ ü¸üÞ ÖÖ ë ÃÖ × Æ üŸÖ ‡ÃÖ Û ú£Ö ®Ö Û úß ¯ Öã× Â ™ü Û úß× •Ö‹ …  5 ×××× 1 = 5  

 “Transportation plays a very important role in linking the various parts of India and 

brings unity in diversity.” Support the statement with examples. 

 

21. ÃÖÓÃÖÖ¸ü Ûêú × ¤ü‹  ÝÖ‹  ¸üÖ •Ö ®Ö ß ×ŸÖ Û ú ȩ̂üÜÖ Ö-´Ö Ö ®Ö × “Ö ¡ Ö ´Ö ë ¯ ÖÖ Ñ“Ö »ÖõÖÞ Ö A, B, C, D †Öî̧ ü E †Ó× Û úŸÖ × Û ú‹  ÝÖ‹  ÝÖ ‹ Æïü … ‡®Ö 

»ÖõÖ Þ Ö Öë Û úÖê ®Ö ß “Ö ê ¤üß ÝÖ ‡Ô •Ö Ö ®Ö Û úÖ ¸üß Û úß ´Ö ¤ü¤ü ÃÖê ¯ Ö Æ ü“Ö Ö× ®Ö ‹  †Ö î̧ ü ˆ®Ö Û êú ÃÖ Æ üß ®Ö Ö ´Ö ˆ ®ÖÛ êú ×®Ö Û ú™ü ÜÖ à “Ö ß ÝÖ ‡Õ ¸êüÜÖ Ö†Ö ë 

¯ Ö ¸ü × »Ö × ÜÖ‹  :   5 ×××× 1 = 5 

 (A) ÃÖ ²Ö ÃÖ ê Û ú´Ö •Ö ®Ö ÃÖ ÓÜµÖ Ö ¾Öé× ¨ü ¤ü¸ü ¾Ö Ö »Ö Ö ¤êü¿ Ö 

 (B) “Ö »Ö ¾Ö Ö ÃÖß ¯Ö ¿ Öã“Ö Ö ¸üÞ Ö Û úÖ õÖê¡ Ö  

 (C) ¯ Ö Ö ¸ü-´Ö Æ üÖ «üß¯ Ö ß µÖ ȩ̂ü»Ö ´Ö Ö ÝÖ Ô Û úÖ †× ®ŸÖ ´Ö × ÃÖ ȩ̂ü Û úÖ Ã™êü¿ Ö ®Ö 

 (D) ´Ö êÝÖ Ö × ÃÖ ™üß 

 (E) ÃÖ ´Ö ã¦üß ¯ Ö ¢Ö ®Ö 

 In the given political outline map of the world, five features A, B, C, D and E are 

marked. Identify these features with the help of the following information and write 

their correct names on its lines drawn near them : 

 (A) The country having the lowest population growth rate. 

 (B) The area of nomadic herding. 

 (C) The terminal station of trans-continental railway  

 (D) Mega City 

 (E) Sea Port   
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 ®ÖÖê™ü : × ®Ö ´®Ö × »Ö ×ÜÖ ŸÖ ¯ ÖÏ¿ ®Ö Ûêú¾Ö »Ö ¥ü×Â™ü²ÖÖ×¬ÖŸÖ ¯Ö¸üßõÖÖÙ£ÖµÖÖë Û êú × »Ö‹  ¯Ö Ï¿ ®Ö ÃÖÓÜµÖ Ö 21 Ûêú Ã£Ö Ö ®Ö ¯ Ö ¸ü Æïü : 

 (21.1) × ¾Ö ¿ ¾Ö ´Öë ÃÖ ²Ö ÃÖ ê Û ú´Ö •Ö ®Ö ÃÖ ÓÜµÖ Ö ¾Öé× ¨ü ¤ü¸ü ¾Ö Ö»Ö Ö ¤êü¿ Ö Û úÖî®Ö ÃÖ Ö Æîü ? 

 (21.2) µÖ æ̧ êü× ¿ Ö µÖ Ö ´Ö ë “Ö »Ö ¾Ö Ö ÃÖ ß ¯ Ö¿ Öã“Ö Ö ¸üÞ Ö Û úÖ ÃÖã̄ ÖÏ× ÃÖ ¨ü õÖ ê¡ Ö Û úÖ î®Ö ÃÖ Ö Æîü ? 

 (21.3) ¯ Ö Ö ¸ü-ÃÖ Ö ‡²Öê× ¸üµÖ ®Ö ´ÖÆ üÖ «üß ¯Ö ß ȩ̂ü»Ö ´Ö Ö ÝÖ Ô Ûêú ¯ Öæ¾Ö á × ÃÖ ȩ̂ü Û êú Ã™êü¿ Ö ®Ö Û úÖ ®Ö Ö ´Ö × »Ö × ÜÖ‹  …  

 (21.4) ‡Ô̧ üÖ ®Ö Ûêú ´Ö êÝÖ Ö ®Ö ÝÖ ¸ü Û úÖ ®Ö Ö ´Ö × »Ö ×ÜÖ ‹ …  

 (21.5) †Ö òÃ™Òêü× »Ö µÖ Ö Ûêú × Û úÃÖ ß ‹Û ú ¯ ÖḮ Ö ãÜÖ ÃÖ ´Ö ã¦üß ¯ Ö¢Ö ®Ö Û úÖ ®Ö Ö ´Ö × »Ö ×ÜÖ ‹ …  

 Note : The following questions are for the Visually Impaired Candidates only, in lieu 

of Q. No. 21 : 

 (21.1) Which country has the lowest population growth rate in the world ?  

 (21.2) Which is the well known area of nomadic herding in Eurasia ?  

 (21.3) Name the eastern terminal station of Trans-Siberian Continental Railway  

 (21.4) Name the Mega City of Iran. 

 (21.5) Name any one major Sea Port of Australia.  

 

22. ³ÖÖ¸üŸÖ Ûêú × ¤ü‹ ÝÖ ‹ ¸üÖ •Ö ®Öß × ŸÖÛ ú ȩ̂üÜÖ Ö-´Ö Ö ®Ö × “Ö¡ Ö ´Ö ë, × ®Ö ´®Ö × »Ö× ÜÖ ŸÖ Û úß × Ã£Ö × ŸÖ ˆ¯ Ö µÖãŒŸÖ × “Ö Å®Ö Öë ÃÖ ê ×¤üÜÖ Ö ‡‹  †Öî̧ ü ˆ ®ÖÛ êú 

®Ö Ö ´Ö × »Ö× ÜÖ ‹ :   5 ×××× 1  = 5  

 (i) ÝÖ ¸üß ²Ö ß ȩ̂üÜÖ Ö ÃÖê ®Ö ß “Ö ê •Ö ®Ö ÃÖÓÜµÖ Ö Ûêú ÃÖ ¾Ö ÖÔ×¬Ö Û ú †®Öã̄ Ö Ö ŸÖ ¾Ö Ö »ÖÖ ¸üÖ •µÖ  

 (ii) ˆ ¢Ö ¸üÖ ÜÖÓ›ü ´Ö ë ÃÖ Ö ò°™ü¾Ö êµÖ ¸ü ¯Ö ÏÖ îªÖê× ÝÖ Û úß ¯Ö Ö ÛÔú  

 (iii) Û úÖ ò±úß Ûêú ˆ Ÿ¯Ö Ö ¤ü®Ö ´Öë †ÝÖ ÏÞ Ö ß ¸üÖ •µÖ  

 (iv) × ²Ö Æ üÖ ¸ü ´Ö ë ŸÖê»Ö ¿ Ö Öê¬Ö ®Ö Û úÖ¸üÜÖ Ö ®Ö Ö  

 (v) ³Ö Ö ¸üŸÖ Û úÖ ÃÖ ²Ö ÃÖ ê ²Ö ›ÌüÖ ´Ö Æ üÖ ®Ö ÝÖ ¸ü (2001) 
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 On the given political outline map of India, locate and label the following with 

appropriate symbols : 

 (i) The state having the highest percentage of population below the poverty line.  

 (ii) The software technology park in Uttarakhand.  

 (iii) The State leading in coffee production.  

 (iv) An oil refinery in Bihar.  

 (v) The largest metropolitan city of India (2001)   

  ®ÖÖê™ü : × ®Ö ´®Ö × »Ö ×ÜÖ ŸÖ ¯ ÖÏ¿ ®Ö Ûêú¾Ö »Ö ¥ü×Â™ü²ÖÖ×¬ÖŸÖ ¯Ö¸üßõÖÖÙ£ÖµÖÖë Û êú × »Ö‹  ¯Ö Ï¿ ®Ö ÃÖÓÜµÖ Ö 22 Ûêú Ã£Ö Ö ®Ö ¯ Ö ¸ü Æïü :   

 (22.1) ˆ ÃÖ ¸üÖ •µÖ Û úÖ ®Ö Ö ´Ö × »Ö × ÜÖ‹ , •ÖÆ üÖÑ ÝÖ ¸üß ²Ö ß ȩ̂üÜÖÖ ÃÖ ê ®Ö ß “Öê ÃÖ ¾Ö ÖÔ×¬Ö Û ú •Ö®Ö ÃÖ ÓÜµÖ Ö Û úÖ †®Öã̄ Ö Ö ŸÖ Æîü …  

 (22.2) ˆ ¢Ö ¸üÖ ÜÖÞ ›ü ´Öë × Ã£Ö ŸÖ ÃÖ Öò°™ü¾Ö êµÖ ¸ü ¯ ÖÏÖ îªÖ ê× ÝÖ Û úß ¯ Ö ÖÛÔú Û úÖ ®Ö Ö ´Ö × »Ö× ÜÖ ‹ …  

 (22.3) ³Ö Ö ¸üŸÖ ´Öë “Ö Ö µÖ Û úÖ †ÝÖÏÞ Ö ß ˆ Ÿ¯Ö Ö ¤üÛ ú ¸üÖ •µÖ Û úÖî®Ö ÃÖ Ö Æîü ? 

 (22.4) × ²Ö Æ üÖ ¸ü ´Ö ë × Ã£Ö ŸÖ ŸÖ ê»Ö ¿ Ö Öê¬Ö ®Ö Û úÖ ¸üÜÖÖ ®Öê Û úÖ ®Ö Ö ´Ö × »Ö× ÜÖ ‹ …  

 (22.5) ³Ö Ö ¸üŸÖ Û úÖ ÃÖ ²Ö ÃÖ ê ²Ö ›ÌüÖ ´Ö Æ üÖ ®Ö ÝÖ ¸ü (2001) Û úÖî®Ö ÃÖ Ö Æ îü ? 

 Note : The following questions are for the Visually Impaired Candidates only, in 

lieu of Q.No. 22 :  

 (22.1) Name the State having the highest percentage of population below the poverty 

line.    

 (22.2) Name the software technology park located in Uttarakhand.  

 (22.3) Which is the leading tea producing State in India ?  

 (22.4) Name an oil refinery located in Bihar.  

 (22.5) Which is the largest metropolitan city of India ?  

_____________ 
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